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Find the equations of x and y for the following curve Find the equations of x and y for the following curve
with parametric variables displayed. with parametric variables displayed.
nore (x=1¢— 1 nore x = 4 cos 0
{91 7 , {91 7 ,
y=t"+ 2t y = 2sin 0
x=t—7 X" t=x-+7 cosG:T, sin 6:%
L& Wiz Wiz
txy DR R AL T sin @ + cos” 0 =/ oK A LT
=(x+7) +2 (x+7) (—2L)2+ ( x )2:/
=x'+2x +7+2 x+2 2 2
L=y
fotT y=a +6x+3 76 4
b x=1t+ 2 LA x = 3cos 0
it , i ,
y=t"+ 4t y = 5sin 0
E5R0%A  briTh BEV A . < 4N LN/V X3tA BbD
2. &@W%n‘?@]ﬁ KT, toE "By 2LE, Lo 4. 40 & ’2{%(& LT, /k@EHﬂ a £,
A % ;%%%E < M, Express the following curve using the angle 0 as a parameter.
What kind of curve does the vertex of the following parabola draw e o B 2
5 X Yy _
as the value of ¢ changes ? w8 D 9 -+ 16 =1
nw ey
BlE y=x2—4dtx+ 4t x? n X _
2
29 5o A L& SUAAN 2 2 3
45 I 2 f— - — .
f%i%f@t% MLy = (x ‘2t) it x =3 cos 0 =4 sin 0
7 5%P(x y)kTék x=2t,y=—4t" +4 ¢t ;
Feice 3 bATEN X 9
i = %y@f\a;ﬁ AL HE O 4 Ty =1
y=—4 (%)2 t4 (F)=—r2x
HroTh M T ow» 139528 A
B APHBIRBY KB y=—x'F2x
b
HE y=x%—2tx + 2¢ : 5 5
fEe - L=
25 16
2 2
X
2 o=
5 4
= > , =4 tan 0
cos 0
bhED 2 2
Fﬁ E@ Jg — ‘Z =1
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Find the equations of x and y for the following curve Find the equations of x and y for the following curve
with parametric variables displayed. with parametric variables displayed.
VN = 2 — 2 + 1 i = —2 - -
?AFIJ:?%E { x =1 t BIE  x= cos § - Y= tan 0 — 1
y=t+1
/e St 0=y £
y=t+/ ivn t=y—/ €08 . s
L& Ewizy ) P B A R 5
tEy DRI AL /+ tan“ 0 = ol 0 W AL
_ 2
=(y —7/ —2\y—7)+7 x
oy ) P+ =)
=y'=2y+i—=2y F2ti=y—4 y +4
2 L E st X2 Zyxrth
L-oT x=y—4y+4 R A #R Fo=< 7~(y+/)2:/ M owh 2
BAEW x=t2+t—2 YA 1
i ’H y—1—2 i X= “Gos @ T2 y=2tan 0
2F  BoEowh  broTh BEV A R < O 5 D¥  mrlth bbb
2. WOBMBMOTE KX, tOHE NELTLLE, &0 4. 50 &1 jl\” %IELT koWl #E R,
I3 f;‘% <;é%§h; < — E2xpress the following curve using the angle 0 as a parameter.
What kind of curve does the vertex of the following parabola draw SRS Z _
as the value of ¢ changes ? {51l 78 25 + 16 =1
anED x? 2
Bl y=x2—4tx —4¢ 7%—%‘/
29 5o A L& Y AN 2
BB oOREEHL y=(x—21¢) —§¢ x=5cos 0, y—= 4sin 0
HroiTh
A ’ﬁ\%P(x’y)kTék x=21t,y=—¢ t’ bAEN x2 2
LE  Ewice ) i E@ 9 + y =1
t= 52y oA ALT
y =" (%)2 =—2 %
br5Th FE I O E5 R0 A
B APABCRME BZHR y=—22
LA
[t R y=2x2—2tx + 3¢
nw En x2 y2
I — =
e  —o . 1
Yy
42 27
4 , =2 tan 0
cos 0
LAEL A2 y2 -
HE© 25 6 1
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Find the equations of x and y for the following curve Find the equations of x and y for the following curve
with parametric variables displayed. with parametric variables displayed.
o Vi — anee x = 3cos 0 + 1
Wi [ *TVE 7L {5l ,
y=2t—1 y =4smn 6 — 3
BB A o X */ . . y +3
x=VE —7kn t=@+1)? (x=—T0%%) cos = T, sin ="
20w ) . :L\\EC@O
t%y@ééa:}}i E\L,T sin? 0 + cos” 0 =7 =K AL T
BB A ( Y+3 )2+( x —/ )Zi/
y=2 x+7) =7 (x=—7/o%H% ) 4 3 -
135 R0t A : A _ 7\
R oy =2 (k+/)? —1D x=—] ©HH (x(?’) + (yjj) —
bATE N X :\/t_ — 2
i { bAEL x = 3cos 0O
y = t — 2 i jE .
y = 5sin 0
E5R0%A  briTh BEV A <h . \z: ECELLED
/k@ﬁjz%,ﬁ@%@T BRI, tOfE »EbTHEE, Eo 4. HPHR, & B J:’i’@]<;k7£’ﬂ“ﬂ’
, Eﬁ <4¢% ;ﬂ Show that point P moves on the following curve.
J: 5 cE 7?7 % H < 75)0 N
What kind of curve does the vertex of the following parabola draw %Ij% Tg P( 2 3 tan 6) 3 x> _ y2 =1
as the value of ¢ changes ? m os 6 ° 22 32
nw e Dx’; 5 =
BlE y=—x2—4tx+ 1 @]<;k%ﬂ“ﬁ:
A
— 2 2
5&%@ EHL y=—(x+21¢t) +4 ¢ +7 7@26 y=3tan 0 L+ B b,
B R %P(x y) bt s x=—2t,y=41t +7
Ewicw ) xz yz = / — tan< 0
t=— %y@f&kﬁ A LT 22 37 cos? 0
x \2 / — sin? 0 cos? 0
=4 (——) +7 =x*47 = - =
Y 2 N cos? 0 cos? 0 /
MR P EYE b 24y 2 2
18 ﬁx i Vi = x Th Lk
’ ! ko, APU—T - =/ Er@me,
bAEL
HE y=—x+2tx+ 2t
bATL <A 12 y2
i )fﬂ?P(5cosG 331116)75 o+ =5 =1
5 3

L a@< oL % ort,




